January 25, 2021

Math 110
Winter 2021

Lecture 11

Clss Qz 6
Given P(A)=.65

V) Venn  Diagvam

& o
A5
Exom 1| 15

Nok Monday

P(B)- .45

P(Rond B)-.25
2)P(R)
16535

B)Kpr oTB>
- 44.25 8.2 5080 i




Consider the Se\\ow?qa Chart
) Sind  P(x=2)
-| 35v.28 v b v.03 -1-54.2

9) Dvaw) Peob. A@(.‘(\TS\'@%\N

35
25

DS B & T - “i .05
x-pAL SWT CALC 1—\1« s\cks Lls\.?_
nov (5] fsee)

“) g\nA Qi in feé\l(eA Svackion i(!’z;5 ’

T W i o P [0 M 3

HRoond MEE £ d-dednd then Stnd wﬁ
Qp), Ranse

= 50 mirog
§-2.2 =90 k'.l('l-?\ -5 tu4 H .6 T A

January 25, 2021

(’\\>\>\'\(mm
EX?QC\GA “Q\Ue — }A. :_X
1 oad 50 Hidds So §0 eoch.

One \-\g\@& 'S TQﬂAom\'( Se\ecjreo‘ the cwner 3& a

Y154, worth §25. Sind expeded Volue per el Seld.
B | PONE)  gad oL, R(Ene)

§ - gt CAL 14—y Sts
® TR
‘{ 0 é\a}\lo\\ue = M=x= 15

§1.90 / icket




January 25, 2021

?)QSofe %)omat S\n’f)er‘(/ Yov bo'{ tnsSuvan(e So/ ‘!&SOO.
1S You don't make &, Nowr Somily gets $00,000 in

benehiy .
P, I You dont make & 1o .5/ whatis the

CweﬁeA Volve  pev oy Sold \:3 tnsuravce QMP““'{'?
SN 1RO sed W
$500-100%0 | -5/, = -005 P(EN) P2

$300 - O 5/, = b

% box Contains O @uartes cnd 13 Nikels,
Ll Shoke S T o 2 Cotes.

QX *+5%0¢ P(CoMedy 508)- 25 T\_Z%o‘
N
Q >>3o¢ P08 1- g ol % _;%
N \\ o0 Pt 108)- \_L%_ ‘g’o
Caed & Pleabedy Q\ o . D\SJ‘. \\\S\'oc)vuwn
\56/2\0
52/210
2/210
04 30§ b50¢
Colled & -»\1 Sind
Rcoed §) P\ m
T =265

Qoond M ET L o
whole %, Sind \) (VQA\MA Smd.on) BU\OS;

6%/, Rane oy MAT
)":\g -\5 393

o 6 1o 24)




January 25, 2021

Binomial Prob. Disk.
\) M H\Ae?u\ABV\'\ evenls

., only two oulomes,

2) Eah cvent ha
- Saxlore

< Success

) P(Soccess\;? ) P(Sadore) =X
e T e
PEX vemarh uvxc\\avgjeo\ Sov all
N e\JevaTs
H) X Ts A 0§ Successes
Lz

POF) =y ° E %

Conotdey o8 binomial prob. Ak weth 1220,

P-.b ;
ii(\A POx= \6) :20(:(6 ( )(L\>
\)('X): ‘“C ° . Q"“—,X

Do WA PR wor 15 % .6 ™15 % MM 5k

:\.0‘\6}




January 25, 2021

Xou ave \’u\(\ﬂ& a ]uit, 4o C(VQS*“O“S, e [Selse

oy and m\(ina vandow &uesses,

what 15 The prob. That You Cowe(.ﬂ‘{ Guess

25 Covred omsuest

=40, P-4 F= s 15
F-

C
P X = 25) =40 25

@@ PR h)mom‘&\g&

Men\ No Mend
s 40 oimom 936 (40 545 , 29
P‘- 06 N\ P 'X
X NolWe® 25 @

(Posfc {Ent| oz \

R \oo.AeA Coin 15 tosced 10D Frmes,
P lond exacly 1B Tailo)

=P :16) 2 \o'mom?c\g( \9[0, .‘(‘)ﬂ? :

P(o¥ mosY 50 \'Oul\;): eC %@‘SD)
"
:\DinochSQOO,ob/SO)
0, 1,23, - - -, 4%3,%,50

i -l I




January 25, 2021

\)'\)S S(\‘(S ?\'O\)‘ _\—\\0\.\_ C\N\\G F(k(\(ajvgs Qr\—}\k;) on
Yo ov eorl{ s /..
Letle vandomly \ect 30 Packases

‘\ P(exacl\{ 10 oxrive onlime oy eox\‘()
(X =10) =binewmpdS (€0, A70)-| 103> |

2) P(Sewer than 19 Ve ontime ov eQr\\-()
P(x & 75) - P(x é“\;b}mmd%(%o/ F\,T‘\\

Yoo ore toking on exam with 50 moltiple-choice
Fueshions.

EN\\ C‘“Esto“\ \'\(\5 W\ Amotes w(—\“\ o‘\\\{ one COWEch
Aote. XU ave wmaking vandow Qe ske

- »1’-:.25 :3_:.‘\5
=50 P—L\ N q

Plexactiy{ \b Corredt cmsulqu) 4’(7(:\@)
="
:UV\OM?AS(SOI.E,\@)
:
W%&M Correcy Ox\swb):
p( % L20) - POX41) Linomcd$ (50,25, 1)

Tas)

P o least 10 Covred Omswers):
~ ——

”\)Lyélo): 1 -P(’kﬁq\
\otod _Prob. :1-\)}1\om(AS(50 )25 /0‘)

Dan't S0 L\0 ;\‘%36

woa\




(00 Newborn bobles Were  vondowly Selected,

M=00 , P=:5, S

Pexatly 15 boyo)= P(%=45)
 binorapd8(100, -5,49)
-Coms)
Plot most 60 )P ¢ €0)

- Binomcd (100, 5, )
%2

(ot \eosy 45 boys)=PL X pRE )
4 21 —POx & 4)

4 bingwcd5(100,.9,44)
364

%4 w5

January 25, 2021

Diooeial P, Q¥ with M=o, =3

P( ‘X:OQ = \)‘mom‘)AS('ﬂ, P,ka

P( X SQ\ = \)h\omCAS n, P/ C*)
P(xY Q) =1- biaomcdS(M, P o-1)

\ &
QN S"‘éb>=\>inoncA3'(“ ) Y, \3) -
Redue by

Divacds (1, P, 0 1)

~
?( 30 £X é%‘;) :\;i.\gmcé\%(ﬂo ) 0% ) 35) —

|e)

: 2 )
\M\”l \)W\OMCASC\O) 3 )33




January 25, 2021

Binomial Prob. Dist:
Meawn M=Np

o 2
\Jocione I :‘TLPQr

Stordord Devickion o= 0
Toss & Sair Cotn 400 times
M0 P=.5 =0 ol o
Ja-np= 400 (+5) -[200] A 120‘3
Gmpg -H00(2)(:5) =100 500 1 2010)

RN \oo _200 120

voval Ransge
S5/




